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let Hc Y continuous
. joint pdf is a fat
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Change of integration order is similar to change of
summation order :

consider
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The two sums are identical due to associativity and

commutativity of addition.
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Excerpt : let the joint Pdf of Hey be
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Student Question : when evaluating an integral of with an

anti derivative F
, why do we plug

the upper bound first into f ?
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This is a coastal Heat

g! ! e- × 2e-4 dy de can be pulled out of
the integral .
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2.1 Independent Random Variables
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Equivalent for discrete Rus :
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What is the density of Ig ?
and exponentially

distributed Rus ?
Two steps :

r) Cdf of §
2) pdf is derivative of Cdf
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Remark : Generalization to u Rus Ha , . . .
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